Chemistry 122 Equilibrium Unit (Pages 552-555)

LeChatelier’s Principle

LeChatelier’'s Principle: :
if o n\eumm\ S &.ﬂ&&a at eguifibrivm is %@Eﬁm& {1 ﬁ\“&h& €
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- JBCRS S will occur thut tend to Countevact _that change.

- @%SB%%\%* " usually mean that the equilibrium will M&mhm N to the right or
to the left. :

- N\Sm%%w&m ” means that if you do something to a system at .
equilibrium, the system will shift in such a way'astotry and __ g4 ndz what you
just did. It will try and __f@utnif gra o the stress that has been applied.

- Remember, equilibrium only accurs in a closed system.

Concentration , Temp -
Vressure
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Examples of Stresses that upset the mncm_m_onca.%

Effects of Changes in Concentration

If the concentration of a substance in an equilibrium system is \.\wﬁ\.mmmem,\gx by
us, the equilibrium will shift toward the Gvbo.ms %& side of the equation, in
order to counteract the change/relieve the mﬁmmm ’

Or
If the concentration of a substance in an equilibrium system is |§< us, the
equilibrium will shift toward the side of the equation with that substonce,

order to counteract the change/relieve the stress

Consider the equilibrium equation:
H2(g} + 12(g) < = 2HIi(g)

If we add some H; to a flask containing this mixture at equilibrium, the concentration of H,
( [H2] } will immediately increase. In order to counteract this change, the equilibrium wil

1ah in order to “use up” some of the extra Ha. (In‘other words to
decreas®’

&the [H2].)
Consider the equilibrium equation:
Hz2(g) + I2{g) € = 2Hl(g)

Let's say now that we somehow take away some [2. [15] will immediately decrease.

In order to counteract this change, the equilibrium will _S4/ N,mw \@\m. in order to
increase [12] again .

If we were to add some Hl, the [HI] would immediately I nclease .

In order to counteract this change, the equilibrium would shift to the \m%%

Some examples to try:

Given the equilibrium equation:
PCls(y) € 2 PClsig) + Clyg

a) If the [PCI5] is increased, the equilibrium will shift to the ........... rignkt
b) If the [PCI5] is decreased, the equilibrium will shift t0 the ... gL
c} Ifthe [PCI3]is increased, the equilibrium will shift to the ........... leLE




